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PART A — (2 # 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Aemauyaueneupcs G)yamia bHs geu@eun( elennelipE b gpgamp 500 QsrHzefia
chlen_weflszeyb.

1. Discuss the rules of evidence in criminal and civil cases.

wypehlud  Wwhpb vilowBwe  apiesds snifu  dfsa chsm

chleunflbmayib.

9. Can a dying declaration form gole basis for a conviction?
inyest eunbusapmi Gy wlLHCw SgUumLwrss Caran@® senmLomen aphs

G)Igony

3. Fxplain the importance of ‘motive’ as a relevant fact.

G)emujomtuws | A fijontus Qunmenenwwns ‘(ear) Cprasnd -

apsilwspgontd @f\hy chloufl.
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PART B — (2 # 7= 14 marks)
Answer TWO of the following in about 300 words each.

emeuayauemaspst G)yeishe, geudan(s cHemnelpEn gogsnyp 300 Qenpsaia
Bl wellgsayn.

4,  Explain corroborative evidence.

‘v f sl sy efcufl.



5.  Distinguish between relevancy and admissibility. ’3
QsrLiyeLwene HMID FHESSEE®E — @aupep CaumuBsss.

6. Explain the presumptions as to ancient documents.

Qsréereueid @GNS HeDTaTBS®ET upM eSleurl.

PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :
Gereumeuaneupmer pbHh@ dn GHNULSHT TWES. :
(a) Corpus delicti

Gppsampsaiar OsTES
(b) Res gestae
gaflu Hlapey
(¢) Oral'evidence
aurQum s fwib
(d) Communications between spouses
ampsmss goamaiseaiemLwrer ssee uflorbpb
(e) Character
Seenio (@wevry)
(® Rebuttal of presumptions
Sigiwramsemer goubpear Quwiassd
(8 Refreshing memory
Paaaudsds Qamarerd

PART D — (2 X 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law
and decided cases. Give cogent reasons.
Gemeu(peuameupmier @reiahE &L cumswkisar wHmD STorallEstul L apsEsmens
s H5@&bs sMrahs@EsLem elaLwallsseayb.

8.  ‘A’is accused of committing a crime at Calcutta (Kolkata) on a certain day. On
that day he was at Lahore. Burden of proof lies on whom?
GIUACL @ prafld ‘o erdrueir shsssrele @m GdDl@wssti aar @Ghow
&0SsLLEEDTT.  opprafld et ormfld " @bt QLWUEGsED &
WITHEOL LIS ?
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10.

‘A’, a Police Officer, gives evidence that he has received information from ‘B
‘B’ is not examined as a witness. Decide whether the evidence of ‘A o
admissible.

L . ; . , 1 e e w53
sren ‘< earuafllLlmis sseud Quppsrs, ‘o b G sreid 55T

sTLAWD oafsdmni. ‘e’ @ sndwurs darflsaiuelbme. ‘o -g sribiuib
ghnsCendeTsssssT aTan Enworedsaab.

‘A’ agrees, in writing, to sell a horse to ‘B’ for “Rs. 1,000 or Rz. 1,5007. Can
evidence be given to show that Rs. 1,500 was to be given?

b

EWYESIL LTeuLons “o5.1,000 by (5.1,5007-5 sanguanis shwgemis ‘245,
ps ‘of @uusQsrardpri. @. 1,500 spissCaudnQb aar snlbul 2fhs
Quiior?
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